JAS K& £ 32 %5
(CFrk244 3H %)

fE_JE i H il i B & RIAERE R (%)
K= b ¥ o2 — % = A 6,184 (t) 225.4
41~ 3J] 47,292 100.2
he by 72T o — 2 = A 2,861 156.9
4H~ 3H 22,445 93.3
I [ N 4 A 8,572 118.8
41~ 3J] 95,342 100.5
~ K= Y — 4 A 227 78.8
X 41~ 3J] 3,668 98.1
F U Y — = 4 A 0 -
i 4H~ 3H 30 300.0
- 2 N 5 ) 0 -
4H~3H 0 -
) Fe FE 2 — L — A 248 98.0
4H~ 3H 4,037 105.7
b bt = 2k i 0 -
4H~ 3H 717 249.8
o 21 Y A 18,093 146.8
4H~ 3H 173,531 99.6
o oA K — y — % Y A 1,803 (k1) 123.4
2 4H~ 3H 18,622 98.4
2 R oy — 2 A 1,764 110.3
l 4]~ 34 20,556 98.2
Y w
] moE oy - 2 E: 1,795 102.4
= 4H~ 3H 19,970 99.6
¥H N = E: 5,362 111.4
2}
4H~ 3H 59,148 98.8
E% N7
= i & i E: 11,209 (k) 102.2
e 4H ~ 3 158,897 97.3
N . iz
/&/\/ AU Y 2 — R e H 90 (t) 62.9
AL 4H~ 3H 881 59.1
AT 4H~ 3H 200 81.6
15 N = A 120 78.9
Y (&) u+
AT A 4H~ 3K 1,081 62.3




